CITY OF ORLANDO PROCUREMENT AND CONTRACTS DIVISION SEALED BID TABULATION

Vendor's Name				DB Civil Construction, LLC		Cobb Site Development, Inc		Prime Construction Group, Inc.	
Vendor's City & State:				Ormond Beach, FL		Wauchula, FL		Orlando, FL	
Item	Description	Qty	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization and Demobilization	1	LS	\$11,500.00	\$11,500.00	\$152,130.49	\$152,130.49	\$95,000.00	\$95,000.00
2	General Requirements	1	LS	\$75,000.00	\$75,000.00	\$34,184.73	\$34,184.73	\$10,000.00	\$10,000.00
3	Project Identification Sign	2	EA	\$2,050.00	\$4,100.00	\$1,838.45	\$3,676.90	\$1,200.00	\$2,400.00
4	Locate Utilities in Advance of Construction	1	LS	\$12,000.00	\$12,000.00	\$9,171.76	\$9,171.76	\$12,000.00	\$12,000.00
5	Maintenance of Traffic	1	LS	\$35,000.00	\$35,000.00	\$29,074.08	\$29,074.08	\$55,000.00	\$55,000.00
6	Connection to Existing 8" Force Main (@ E. Crystal Lake St.)	1	LS	\$26,000.00	\$26,000.00	\$9,614.76	\$9,614.76	\$15,000.00	\$15,000.00
7	Install 10" DR 18 Fusible PVC FM via Directional Methods (including locating wire)	1900	LF	\$114.00	\$216,600.00	\$88.51	\$168,169.00	\$145.00	\$275,500.00
8	Install 10" DR 18 Fusible PVC FM via Open Cut Methods (including locating wire)	500	LF	\$200.00	\$100,000.00	\$169.81	\$84,905.00	\$320.00	\$160,000.00
9	Install Inside Drop Connection	2	EA	\$21,000.00	\$42,000.00	\$11,435.33	\$22,870.66	\$7,000.00	\$14,000.00
10	Install Air Release Valve and Box	2	EA	\$21,000.00	\$42,000.00	\$15,158.78	\$30,317.56	\$16,000.00	\$32,000.00
11	CIPP Line Existing 12" Sanitary Sewer	65	LF	\$315.00	\$20,475.00	\$448.10	\$29,126.50	\$250.00	\$16,250.00
12	CIPP Line Existing 15" Sanitary Sewer	145	LF	\$250.00	\$36,250.00	\$293.14	\$42,505.30	\$175.00	\$25,375.00
13	Rehabilitate Existing Manhole with Protective Liner	2	LS	\$6,000.00	\$12,000.00	\$7,414.53	\$14,829.06	\$20,000.00	\$40,000.00
14	Type B Road Sub-Base Stabilization	175	SY	\$42.00	\$7,350.00	\$48.97	\$8,569.75	\$30.00	\$5,250.00
15	Furnish and Install Road Base Material	175	SY	\$82.00	\$14,350.00	\$51.70	\$9,047.50	\$60.00	\$10,500.00
16	Asphalt	175	SY	\$100.00	\$17,500.00	\$48.41	\$8,471.75	\$70.00	\$12,250.00
17	Mill and Resurface Pavement	1200	SY	\$40.00	\$48,000.00	\$25.16	\$30,192.00	\$45.00	\$54,000.00
18	Concrete Curb and Gutter Removal and Replacement	110	LF	\$130.00	\$14,300.00	\$145.74	\$16,031.40	\$100.00	\$11,000.00
19	Vac Truck for Sewer CIPP Lining	1	LS	\$8,600.00	\$8,600.00	\$4,706.83	\$4,706.83	\$2,500.00	\$2,500.00
20	Vac Truck for Drop Connection and Manhole Lining	1	LS	\$8,400.00	\$8,400.00	\$4,036.93	\$4,036.93	\$2,500.00	\$2,500.00
21	Restoration (Including Sod, landscaping, and Driveways)	1	LS	\$28,000.00	\$28,000.00	\$81,927.65	\$81,927.65	\$26,000.00	\$26,000.00
22	Concrete Sidewalk Removal and Replacement (4" Thick)	300	SY	\$70.00	\$21,000.00	\$148.28	\$44,484.00	\$80.00	\$24,000.00
23	Project As-Built Survey	1	LS	\$20,000.00	\$20,000.00	\$7,386.43	\$7,386.43	\$7,500.00	\$7,500.00
Calc	ulated Total (Items 1-23)				\$820,425.00		\$845,430.04		\$908,025.00
Bia E	orm (00300 7) Signed								
Bid Form (00300-7) Signed:			YES		YES		YES		
Bid Bond (10% of Base Bid) (00300-8-10):			YES		YES		YES		
	Affidavit of Non-Collusion (00310-1)			YES		YES		YES	
	Affidavit of Present & Future Compliance MWBE (00320)			YES YES		YES		YES	
	Present & Future Compliance Res. Contractor's (00330)					YES		YES	
cert.	Cert. of Contractor's Health Benefits Program (00340)			Y	ES	Y	ES		YES

CITY OF ORLANDO PROCUREMENT AND CONTRACTS DIVISION SEALED BID TABULATION

Purchasing Agent: Silvia Coste

Vendor's Name		DB Civil Construction, LLC	Cobb Site Development, Inc	Prime Construction Group, Inc.	
Vendor's City & State:		Ormond Beach, FL	Wauchula, FL	Orlando, FL	
Affidavit of Compliance with Scrutinized Companies (00360)		YES	YES	YES	
Questionaire (00420)	YES	YES	YES		
Veterans Business Enterprise Participation Form	YES	YES	NO		
Letter of Intent		YES	YES	YES	
Good Faith Documentation	NO	NO	YES		
Addendum No. One (1) Acknowledged:	YES	YES	YES		

CITY OF ORLANDO PROCUREMENT AND CONTRACTS DIVISION SEALED BID TABULATION

Farden, FL Total \$30,000.00 \$100,000.00 \$4,000.00 \$12,000.00 \$192,000.00 \$17,000.00		
\$30,000.00 \$100,000.00 \$4,000.00 \$12,000.00 \$192,000.00		
\$100,000.00 \$4,000.00 \$12,000.00 \$192,000.00		
\$4,000.00 \$12,000.00 \$192,000.00		
\$12,000.00 \$192,000.00		
\$192,000.00		
\$17,000.00		
\$380,000.00		
\$110,000.00		
\$28,000.00		
\$40,000.00		
\$27,300.00		
\$69,600.00		
\$48,000.00		
\$3,675.00		
\$7,175.00		
\$6,650.00		
\$32,400.00		
\$6,160.00		
\$24,000.00		
\$7,200.00		
\$30,000.00		
\$19,800.00		
\$12,000.00		
\$1,206,960.00		
TDG		
YES		
YES YES		
YES		
YES		
YES		
,		

Purchasing Agent: Silvia Coste

CITY OF ORLANDO PROCUREMENT AND CONTRACTS DIVISION SEALED BID TABULATION

Vendor's Name	Cathcart Construction Company-Florida LLC	Valencia Construction Group, Inc.	
Vendor's City & State:	Oviedo, FL	Winter Garden, FL	
Affidavit of Compliance with Scrutinized Companies (00360)	YES	YES	
Questionaire (00420)	YES	YES	
Veterans Business Enterprise Participation Form	NO	NO	
Letter of Intent	YES	YES	
Good Faith Documentation	YES	NO	
Addendum No. One (1) Acknowledged:	YES	YES	